asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7188 000 r

diff_ bpm1X

diff_bpmdeY

B B — B B — &3
20000 - m ] 20000 |- 5 2 20000 - —80C 20000 - M oot
i [ — 200 [ i
5 [ — 700 = ] = [ — 5 [ _|
15000 | 15000 s 15000 | ot 15000 |- 18
- —60( - . - _leoc B —{16(
10000 |- 10000 |- 10000 |- 10000 |- vt
| N N | | |
n —50¢ n 14 n —{50¢ N
5000 |~ 5000 [~ 5000 |~ 5000 [~
- 400 - - 400 -
ofF o o of
0 ani _ _ 300 C
5000 [ -5000 5000 [ 5000
B 200 C C 200 B
10000 | 100 10000 [ 10000 100 10000
B [ N [ N [ B [
1500':' _I 11 | | I I | | | I | | L1 1 1 | | I I | | D 15000 B | | I | | L1111 | L1 11 | L 111 | L 111 | L1 11 | ﬂ 1EDDD _I [ | | | I I | | L1 1 1 | L1 1 1 | | I I | | ﬂ 1500':' _l L1 11 | L1 11 | L1 11 I | I | | | I | | L 11
100 50 ) 50 100 -.-m 20 =10 ) 10 20 30 - 100 50 0 50 100 -30 20 10 ) 10 20
diff_bpmXum diff_bpmdaYium diff_bpmdeXium difi_bpmdaYium
zunnn = —{7o 20000 - — . P 20000 - == —7oc zunnn - —]24t
" - O N - O - —2a
15000 |- —g0r 15000 |- e 15000 |- —{gor 15000 [~ -
[ N —18( N [ —{1B(
10000 | e 10000 10000 | —enr 10000 |
: - —{18¢ - - —16¢
5000 ot 5000 —14( 5000 eoc 5000 | —14(
o ol o ol
- 300 - - 300 -
i [ [ - N
5000 -5000 | 5000 5000
- 200 - - 20( -
10000 10000 10000 — 10000 -
[ 100 n 400 Z 100 B 40t
n N 20( N n 200
15000 u 15000 u 15000 u 15000 u
_I L1 | L1 L1 | | L1 1 | L1 1 1 | L1 L1 | D B | L1 11 | | I | | L1 11 | L1111 | L1111 | L1 11 | ﬂ _I L1 | L1 L1 | 1 L1 1 | L1 1 1 | L1 L1 | ﬂ _l | I | | | I .| | | I . | I L1 11 | L1 11 | L1 1 D
100 = ) 50 100 -.-m 20 -10 ) 10 20 0 ~100 50 ) 50 100 30 20 10 ) 10 20
difi _bpm1Xum difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium
diff _ diff _ diff _ diff _ hpmélcY
—24( —
= I _ L I L = 24[
8000 B0 8000 8000 —(60C 8000
- u - u —22t - - —2a(
BO00 s000 &000 &o00 -
- —50( - 120 - —lcor B — 20
4000 4000 . 4000 4000 e
2000 aoc 2000 —1ar 2000 Luoc 2000 e
o ofF —{14( o o —{141
2000 | 3t 2000 2 ~2000 | 300 2000 |
N n 100 " "
4000 | 4000 4000 | 4000 |
N 200 - m 80( N 200 C =
-B000 n ~BO00 — u ~B000 — n ~B0O00 — n
N " BOC n C BOC
-B0O00 | ~B0O00 | ~8000 | ~a000
N 100 - 400 n 100 N 400
10000 | _ 10000 i 200 10000 = 10000 i 300
Cr v Lo v v v v b v v e b e RN EENE NN NN e EEEEN Coo v Lo v b v b e b e AN T T T N
12000 100 50 ) 50 w00 ¢ 12000 -.-m 30 -10 ) 10 20 g 12000 - 100 _50 0 50 00 © 12000 5 30 10 ) 10 20 o
diff_bpm1Xum diff_bpmdaYium diff_bpmdeXium diffi_bpmdaYium
diff _ diff _ diff_ diff_bpmdeY
4000 — 4000 — 4000 16t 4000 [ — I
- . - . - -
N |14 - 1 - N
B [ | = [ | = [ | —14L = [ —1 200
3000 3000 —{z0¢ 3000 3000 [~
[ —12¢ [ [ C —18¢
B B —{18( B —{12( C
2000 2000 2000 2000 —16¢
i {10 - —[ 18t - i
- n n —{100 - —yar
- - —{14c - -
1000 |- 1000 |- 1000 |- 1000 |-
- 8ot - 12( - 800 [ | 121
of . of 100 o of 100
- - . BOC -
- - BOC - . 800
-1000 ~1000 | -1000 ~1000 -
: 400 h 601 - 40t s " [ o
B B B B [ |
B N ADC N B 400
-2000 |- 301 2000 |- 2000 |- 501 2000 |-
- - - 201 - - - 200
3000 C oo L b Lt Lol B B '| HENEEEENEEEEEE TN NN AN

=100 -50 ID 100

egression -asvm sam24¢

“vs diff bpm=COI

-20) =10

diff_bpm12X .

20000

15000

10000

5000

=5000

10000

—14L

—1&C

—100

15000

diff

100 50 0 50 100
diff_bpm12X/um

20000 —
- —18(
C [ |
15000 5 ya
10000 [ —12¢
5000 —10(
u:— "
5000 [~
Z | |
10000 [~
15000 |- m
[ 1 1 1 | L1 1 1 | | I | | L1 1 1 | | I | | | | ﬂ
100 50 0 50 100
difi_bpmi12Xium
d'
8000 [ B
6000 —12¢
4000
n —10(
2000
o
2000
~4000 [
-6000
~8000
n 20(
10000
[ [ |
I T T T T T B B B A A
12000 100 50 0 50 100 0
diff_bpm12X/um
d'
| —
4000 oo
B m _
3000 |- 18(
- —18(
2000
- —14(
1000 —120
of
1000 |-
- =
2000 —
- 20(
R |
B 1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
=3000 100 50 0 50 100 o

‘postpan.png

diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7188 000

regressm

B —
2000 — - —asc
1500 —{ap¢

B u -
1000 — —25(
500 - 200
0 _ 150
[ 10€
=500 —
f H 500

-1000 |

B L1 1 | | I I | | | I | | L1 1 1 | | I I | | D
100 _50 0 50 100
diff_bpmXum

d '

2500 -
- —a5(
2000 -
- —anr
1500 |
—{25¢
1000 -
: 20(
500 —
[ 15¢
o
- 100
_500 :— [
- 500

1000

B L1 1 | L1 L1 | | L1 1 | L1 1 1 | L1 L1 | D
100 _50) ) 50 100
difi _bpm1Xum

d '

1200 5 ane
1000 |
—— —a5(
| 600 [
: —ap(
400 | -
200 — 15(
" =
o
- 300 5- 100
—400 |
- 500
600
_BOD : [ A A A N A A A I O O I O I B I I A o
100 _50) 0 50 100
diff_bpm1Xum

d '

500 —{as¢

I 400 — —lapr

- m
100 -
] - " Hasc
200
- 300
100 m
: 15(
o
- - u 10(
- = "
- 500
~200
- m
: L1 1 | | I I | | 11 L1 1 I 11 |
~100 _50 n 100

B I B
2000 | 2000 _
- ] e - 35(
1500 :— 1500 :— —30(
: . —{10c X
1000 - 1000 |- {25t
N — 80 N
500 - 500 |- 20(
N _ 15¢
o o
0 . 100
-500 I~ ~500 [~
N - = 500
1000 [ ~1000 [~
B | | I | | L1111 | L1 11 | L 111 | L 111 | L1 11 | ﬂ B L1 1 | | I I | | L1 1 1 | L1 1 1 | | I I | | ﬂ
-:m 20 =10 ) 10 20 30 - 100 50 0 50 100
diff_bpmdaYium diff bpmdeX/um
2500 — _ 3500 —
: - 141 : -
- - —{a5(
2000 [~ . 2000 |~
- - iy 30
15{:0:— o0 1500:—
- - —{25(
1000 |- 1000 | -
0 . 200
500 — 500 —
0 . 15(
o o
0 - 100
~500 [~ -500 — W
C C LM
~1000 ~1000
B | L1 11 | | I | | L1 11 | L1111 | L1111 | L1 11 | B L1 1 | L1 L1 | 1 L1 1 | L1 1 1 | L1 L1 | ﬂ
-.-m 20 -10 ) 10 20 0 ~100 50 ) 50 100
diff bpmda¥ium diff bpmdeX/um
d' d .
'_ C “1
1200 : 1200 : e
- —{10c : -
1000 1000
" soo | . " oo | 8=t
- —80¢ -
| 600 | 600
N N —120(
400 400 | -
N -
200 200 15(
n - =
(U o
C m B
~200 ~200 | 100
N [ N
—400 ~400
- - 500
600 -600 |-
:||||||||||||||||||||||||||||||| :||||||||||||||||||||||||
~500 -30 -30 -10 0 10 an an ~800 ~100 -50 0 B0 100 o
diff_bpmda¥ium diff_bpmdeX/um
d' d .
500 500 —as(
- —{12 -
400 [~ 400 - —{30(
| - - —100 : - -
| 300 :— n | 300 :— m _og;
200 |- i 200 |-
r gt - -
100 100
o o
~100 ~100
N - u
- . -
~200 ~200
- - n

2468 s diff “bHm-C

reg_sam

2000

1500

1000

500

=500

= 1000

30 20 10 0 10 20
diff_bom4eY/um

d l
2500
2000
1500

1000

500

=500

y

=1000

wl

=20 =10 1] 10 20
diff_bpmday/um

91

iff _bpmdeY

1200
1000

800

400

200

- 200

- 400

-600

_BOD Flo v v v bv v v v trvra by

-30 20 10 0 10 20
diff_bpmdaY/um

9-.

hpméleY

500

400

300

200

100

=100

- 200
|

lovvv e b v b by v bvvran Taag
300 50

postpan:png

120

100

80C

120

100

100

800

120

100

2000
—100

1500

1000

500

~500

=1000

1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
100 50 0 50 100
diff_bpm12X/um

diff

2500 f— —1&(

2000
— 100

1500
| —{BOL

1000

500

-500

=1000

AN N A T T T N A N I B B O
=100 -50 0 50 100
diff_bpm12Xium

"-"1

2 —r
1200
1000
, - —aoc
8O0 =
| 600
400 - —lB0C
200
u:— 401
200
_4A00 [ 200
600 |
800 - I T I T T N T N I O OO O B A 0

=100 -50 1] 50 100

diff_bpm12X/um
diff

500

— 100
400

300

e

200

100

=100

- 200

-~

tv v v v by v v by
~300 =100 -50 1] 50 100
diff_bpm12X/um




asym_sam?2

asym_sam4

asym_samb6

asym_sam3

diff_bpm1X

20000

15000

10000

5000

=5000

10000

15000

10000

5000

=5000

10000

15000

- ¥2/ndf  13.42/12
- ) p0 222 + 3.64
2 p1  -180.3+05
i #
N )
:_ _"44+
L + -
EI | | L1 1 1 | L1 1 1 | 1 1 1 1 | 1 1 1 I_l

=100 =50 1] 50 100

diff_

SR x2/ndf  14.74/12
3 p0 0.441+ 4.418
- p1 -136 £ 0.6
C 1
F fe,
E ’aﬂ
B b
__I 11 | | I I | | | I I | | 11 1 1 | | I | I_l

=100 =50 1] 5O 100

diff_bpm1X

¥2 | ndf 12.68/12
p0 1461+ 2.726 _
p1 96.46 + 0.36 A
= /
2000 | ;
- §
B 4
~4000 |
6000 _
~BO00 |
10000 &
Croro oo v v a br v el
100 50 0 50 100
diff _"bpmlX
L - 2 | ndf 15.96 /12
3000 i
i p0 0.2277 £ 0.3287
2000 p1 _29.88 + 0.04
1000 |- b,
of \
~1000 | h
-2000 |
i 11 | | I I | | 11 | | L1 1 1 | 1 1 I-l
0 100

run7188 000 regres:

ressio

8000

6000

4000

2000

=2000

-4000

¥2 / ndf 41.8/37
pO 4611+ 4922
p1 -181.7 £ 09

o
iy

=30 -20 =10

1] 10 20 30

diff_bpmdaY

¥e [ ndf 29.41/ 37
p0 3.895 + 4.588 F
p1 169.4 £ 0.8 th{m
2000 - )
ol
_2000 -
i l,{#]\fhhfm
-4000 |-
- t
-||||||||||||||||||||||||||||||||
30 -20  -10 0 10 20 30

diff_bpmdaY -

12 / ndf 46.31 / 37
p0 _2.34 +257 o +
p1 1323+ 0.5
(H o
=1000 E—
- 2000 f— e
- i Pﬁr‘"
3000 ;— \ i
_4000 - |,+
5000 |-
E||_|| NN NN RN NN NN
=30 =2 =10 0 10 20 a0

91.

600

400

|

200

=200

iff bpmdaY

}MMM |

w2 / ndf 33.43 /37
po 0.6568 + 0.9174

p1 -3.86 + 0.16

Mm

- ASYIIl sam?2

diff _

apoon = - %2 | ndf 9.3/12
15000 p0 1.03 + 3.62
10000 p1 -180.5+ 0.5

_ t
5000 |- Th

ﬂ;— H\HH\R

~5000 | g

: }.
10000

: 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 11 | 1 1 1 _I |

~100 ~50 0 50 100

diff _bpmdeX

F %2 1 ndf 7.612/12
15000 |

- p0 —0.2036 = 4.4005
10000 1 p1 ~136.5+0.6
000 |- i

B _1++n_

o \

-5000 |- 4

- fi
10000 )
1EDDD __I 11 | 11 1 1 | 11 1 1 | 1 1 1 1 | 11 1 _I |

~100 “50 0 50 100

diff_bpmdeX

¥= [ ndf 9232712
p0 —0.8082 £ 2.7229

pi 96.37 = 0.36 Y

of
-2000 r
» +
~4000 &
~6000 _
8000
10000
AN TN N T T NN T T T T A B
100 50 0 50 100
diff _bpmdeX
- %2 { ndf 7.784 /12
3000 )
i pO 0.01573 + 0.29851
2000 p1 ~30.18 + 0.04
1000 |- .y
of \
-1000 |- "
~2000 |

“vs diff ‘bpm-

fit

%

8000

6000

4000

2000

= 2000

=4000

= 6000

bpmdeY

diff_bpmdeY

- - y2/ndf  40.56/37
- w PO 2.662+4.869
:_ } -198 +

: + ++l+“++ p1 198 + 0.9
i ,

__I 11 11 | 1 111 | 1 1 11 | 1 111 | 1 11 1 I 1 11 1

=30 =20 =10 L] 10 20

y2/ndf  34.93/37
00 3.265 + 4.523 '&P }
1 185.3+ 0.9 Gl
p r
2000
ol
2000 ;
- y
[ f+
~4000 |- ,JrHJlH
—|||||||||||||||||||||||||I||||
=30 20 =10 (1] 10 20

diff_bpmdeY

%2 / ndf 44.89 / 37 HI1-|-|
PO  -1.159 + 2,545 A
o1 143.2 + 0.5
ﬂ —
~2000 |- n
B +#Hh
I i
4000 |-
| f. AT T T T T N T T A O O Y
=30 =20 =10 1] 10 20
diff _bpmdeY
} %2/ ndf 30.37 / 37

G600

400

200

=200

pO 0.4395 £ 0.9211

p1 -2.324 £ 0.175

_ WMMH}HW 1{

1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1
[ — u

10

- postpan.png

diff_bpm12X

¥2 / ndf 40.46 / 41
pO 4.509 £ 6.324
p1 2.29 1+ 0.23 }} |‘

=1000

= 2000

=3000

=100 -50 0 50 100

diff_bpm12X

¥2 / ndf 38.52 / 41 }
po 2.661%5.896 __
p1 4539 +0.216 MJJH i
" H +M J
-500 |- b ]LH t
_1000 |-
1500 E— { -
2000 |-
2500 |-

1500

1000

500

- 500

=1000

=1500

diff_bpm12X

=100 -50 0 50 100

- 2 { ndf

38.97 / 41
p0 —2.553 £ 3.886

-0.1941= 0.1426

|

=100 -50 0 50 100

diff_bpm12X

%2 1 ndf 40.65 / 41

PO 06153 £0.9136

Pl 0.8984 +0.0336 HH _
i " ‘rHH L{
T w*M |

200 { H}H }

W

=100 ~50 0 50 100



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

diff " bpmlX
¥/ nf 14 82 /12

pO 0.06053 + 0.82158

pi 0.06406 + 0.11029
Eﬂﬂg-
i -
o H*'"-—-—-—-n;}{
-s{mf— -
T T N
=100 =50 o 50 100

diff_bpmlX

%

bpm4aY

diff _bpmdeX
¥ | ndf 2445712

pO 0.03845 + 0.82199

400~ %2 { ndf 23.5/37
300 |- p0 0.2909 + 0.8269
ool p1 ~0.1773 £ 0.1462
z i
100 | |
o memwm |
100 }
200 -
_I | 1 111 | 1 111 | 1111 | L 111 | L 111 | 1111 |

=30 -20 =10 1] 10 20 30

diff_bpmdaY

N il ¥ | ndf 10.49 /12 ¥= [ ndf 39.27 / 37
2000 p0 0.8855 + 0.8452 p0 1.059 + 0.851
1500 - pl  —0.06693 + 0.11314 p1 0.193 £ 0.151
1000 | ) = } HJFL #MMJrMW i
500 — 1 200 1 *
oF P : il
i } =400 —
500 - - i -
:IlllllII|IIII|IIII|IIII| _IllIII|IIII|IIII|IIII|IIII|IIII|
100 50 D 50 100 a0 -20 -10 o 10 20 30
diff_bpm1X diff bpm4aY
1200 |- - %2 I ndf 12.14 /12 %2 [ ndf 30.33 /37
1000 |
- p0 -0.2524 £ 0.5783 p0 01747 £ 0.5820
800 |-
Z pi -0.0138 £ 0.0780 p1 01201+ 0.1031
600 [~ o |”'HTP"ﬂ*wwﬂr ”'“*T¥édﬂﬂwl" -
400 - i * -
- 100 1
200 — - I
ofF h*tw—-—-—ﬂiﬁ ) 200 |-
200 } E
- ~300 )
~400 - ) _—
A TN N T T T T T AT N T N T N O A o by v b by a b o |l
100 ~50 D 50 100 30 -20  -10 o 10 20 30
diff bpmlX  diff bpmdaY
¥ | naf 1332712 ¥/ ndf 372037
pO 0.06053 + 0.19961 pO 01241+ 0.2007
p1 001212 £ 0.02676 - p1 0.01758 £ 0.03553
200 | h ] } 1
- o Mﬂm{-ﬁwﬂ]ﬁm _
100 - } -
| K I b —
of — ; |
B 100 -
=100 i
i -I | | I I | | 1 1 | | 1 1 1 I- | I I | |

p1 0.03034 + 0.11023
5{:05— - -
nf— ”JF*'MJH*{
-EDDf— -
T T T
=100 =50 0 50 100

diff_bpmd4eY

diff_bpm12X

¥2 / ndf 38.4 /41

po 0.2171+ 0.8248

pi 0.005776 + 0.030276 # ﬁ u
it

. - %%/ ndf 12.31/12
2000 I~ p0 0.8414 + 0.8453
1500 - pl  —0.07375 £ 0.11285
1000 [ )

500 :— {
500 - %
i L1 1 | L1 L1 | L1 1 1 | L1 1 1 | L1 L1 |
100 50 0 50 100

91

iff_bpmdeX

1200 - i ¥% / ndt 14.91/12
1o e PO _0.2546 + 0.5785
800
- p1 —0.02477 + 0.07787
EDD:‘
400 -
200
ﬂ __ H}h—vﬂ ' i
200 {
~400 |
C o Lo v by v b e b e
100 50 0 50 100
diff _ bpmdeX
¥2 / nf 12.44 /12
pi) 0.06336 + 0.19957

p1 0.006417 £ 0.026738 -

run7188 000 regression’ reg sam2468°vs

diff bpm

+hw_____m++++
:.|I_|_|||I||||I|||

- + ! ndf 55.24 /47
00— p0 0.3078 = 08266
200 p -0.0003478 + 01572043
100 - 1 }

: T ‘I' + ‘|' I

of ﬁ et
u +[H*+ fi
-100 |
200 |
—|II-II|IIII|IIII|IIII|IIII|IIII
30 -20 10 0 10 20
diff bpmdeY
%% | ndf 31.52 /37
pO 1.162 + 0.B51
p1 007317 £ 016267
| | +
0 meﬂﬁmwtrﬁﬁm
-200 }
400
_ﬁﬁn:Jl AN T N T T N A 0 N OO
30 20 10 o 10 20
diff bpmdeY
}:2 { nat 5658/ 37
p0 —0.1456 + 0.5821
p1 0.06118 + 0.11088
_ | “H
- i t
ﬂ_ | { #wa I H +“ﬁﬁ+p 1
ol -
_spo {
NN NN NN AN AN
30 20 10 0 10 20

9-.

iff_bpmdeY

- ¥2 | ndf 45.33 /37
oo p0 0.1322 + 0.2009
i p1 —0.02053 + 0.03824
5D -
ﬂ:— {4{Hﬂﬂy#ihrhﬂwﬁ-ﬂ#ﬁﬁ#ﬁ#ﬂﬂmﬁH
N
100 H_ Ij tlo gl || 1 | || 1 || L1101

-2{) =10

-f1t postpan.png

e

|

T w
=100 "

-200

-300

- 400

TN T T T T T O O
=100 ~50 0 50 100

diff_bpm12X

i ¥/ ndf 29.35/ 41
200 = p0 1.166 + 0.848
- H# ¥ pl  —0.04419 + 0.03108
D__ __“ |>++_H. 1-1. ﬂ H
-200 J
-4ﬂD:-
600 —
:I 11 | 11 1 1 | L1 1 1 | 11 1 1 | 11 1 1 |_I 11 1

=100 -50 0 50 100

iff_bpm12X

"-"1

N ‘J{ { ndf a37.49/ 41
300 —

- PO ~0.1907 + 0.5811
200

E p1 -0.01241+ 0.02131
100 - }

u:— }I.Hh +-#W+LI' h

100 -
~200 [
300

:|| N N |j 111

=100 -50 0 50 100

91

iff_bpm12X

20

¥/ ndf 32.77 /41

po 0.2409 + 0.2005

p1 ~0.006766 + 0.007348

*H:* T

| !

- 20

=100

=120 o b b b b g
=100 -50 (1] 50 100




asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7188 000 r

diff_ bpm1X

20000
15000
10000

5000

=5000

10000

rv v v Py v v Py g |
15000 =100 -50 0 50 100

diff_bpmXum

diff _

20000 f—
15000
10000

5000

=5000

10000

15000

=100 =50 1] 50 100

difi _bpm1Xum
diff

8000
6000
4000

2000

=2000

-4000

~6000

~8000

10000

N N T N N N 0 O A B O A M A
12000 =100 -850 1] B0 100

diff_bpm1Xum

d'
4000
3000

2000

1000

=1000

=2000

~3000 II|IIII|II IIII|

=100 -50 ﬂ 100

20000

15000

10000

5000

=5000

10000

v by b b bvvrn v |
15000 -ﬂﬂ =20 =10 0 10 20 30

diff_bpmda¥ium

15000
10000

5000

~5000

10000

15000

—Eﬂ =20 =10 1] 10 20 30

diff_bpmda/um
diff _

8000
6000
4000

2000

=2000

~4000

~6000

~8000

10000

12000 =30 =20 =10 1] 10 20 30

diff_bpmda¥ium
diff

3000
2000

1000

=1000

=2000

20000

15000

10000

5000

=5000

10000

RN T N T N T T N T Y T A B A B
15000 =100 -50 0 50 100

diff _bpmdeX/um
diff

20000 —

15000

10000

5000

~5000

10000

15000

=100 -50 0 50 100
diff_bpmdaX/um

91

8000

6000

4000

2000

=2000

~4000

~6000

~8000

10000

I T N N T I O T O O A O B OO
12000 =100 -850 (1] B0 100

diff bpmdeX/um
diff
3000

2000

1000

=1000

= 2000

Csam2468° vs diff bomssca

egressiom-asym sam

t pos

diff_bpmdeY

20000
15000
10000

5000

=5000

10000

I T T T I T T T N I A A
15000 =30 =20 =10 0 10 20

diff_bom4eY/um

diff_

20000 f—
15000
10000

5000

= 5000

10000

15000

wl

=20 =10 1] 10 20
diff_bpmday/um

91

hpmélcY

8000

G000

4000

2000

= 2000

=4000

= 6000

= 8000

10000

Flo v v v bv v v v trvra by
12000 =30 20 =10 1] 10 20

diff_bpmdaY/um

diff_bpm4eY

3000
2000

1000

= 1000

= 2000

|IIII|IIII|IIII|IIII|IIII|III
~3000 =5

tpan.png

20000

15000

10000

5000

=5000

10000

tv v v v by v v by
15000 =100 -50 0 30 100

diff_bpm12X/um

diff _

20000 f—
15000
10000

5000

~5000

10000

15000

AN N A T T T N A N I B B O
=100 -50 0 50 100
diff_bpm12Xium

diff_bpm12X

8000

6000

4000

2000

o

=2000

-4000

~6000

- 8000

10000

I T I T T N T N I O OO O B A
12000 =100 ~50 1] 50 100

difi_bpm12X/um
diff
3000

2000

1000

=1000

= 2000

tv v v v by v v by
~3000 =100 -50 1] 50 100

diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7188 000

2000

1500

1000

500

=500

=1000

=100 =50 0 50 100
diff_bpmXum

2500 —
2000
1500
1000

500

=500

=1000

=100 -50 0 50 100
difi _bpm1Xum

91

_1EDD
1000

800

400

200

=200

- 400

-600

-800 -100 -0 0 50 100

diff_bpm1Xum

d'
500
400
300

200

100

=100

- 200

! N B ||
—11}0 —5rl::| " 0 100

2000

1500

1000

500

- 500

=1000

-Eﬂ -20 =10 1] 10 20 30

diff_bpmda¥ium
diff

2500 f—
2000
1500
1000

500

=500

=1000

—ﬂﬂ =20 =10 1] 10 20 30
diff_bpmda/um

1200
1000

800

400

200

=200

=400

- 600

800 plvvra v rvar v v b bv v brr o |

30 20 -10 0 10 20 30
diff_bpmda¥ium

: I :

500 - 500
400 400

| - | -
" a0 " aon |
; - ; -
200 200 |
100 100
oF of
-100 | 100
-200 |- -200 |

reoression res sami2468°vs diff ‘bpm-sca

2000

1500

1000

500

-500

=1000

~100 _50 0 50 100
diff _bpmdeX/um

2500 —
2000
1500
1000

500

=500

=1000

=100 -50 0 50 100
diff_bpmdaX/um

1200
1000

800

400

200

=200

- 400

-600

:

~100 _50 0 50 100
diff _bpmdeX/um

di

P
i

2000

1500

1000

500

=500

= 1000

30 20 10 0 10 20
diff_bom4eY/um

2000
1500
1000

500

=500

=1000

wl

=20 =10 1] 10 20
diff_bpmday/um

diff_bpmdeY

1200
.1ﬂDD
800
| 600
400

200

- 200

- 400

-600

_BOD Flo v v v bv v v v trvra by

-30 20 10 0 10 20
diff_bpmdaY/um

diff_bpmdeY

500
400
300
200

100

=100

- 200

10

- postpan.png

2000

1500

1000

500

~500

=1000

1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
100 50 0 50 100
diff_bpm12X/um

2000

1500

1000

500

-500

=1000

AN N A T T T N A N I B B O
=100 -50 0 50 100
diff_bpm12Xium

1200
1000

800

400

200

- 200

- 400

- 600

I T I T T N T N I O OO O B A
~500 - 100 -50 0 50 100
difi_bpm12Xium

500

400

300

e

200

100

=100

- 200

tv v v v by v v by
~300 =100 -50 1] 50 100
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run7188 000 regression-asym | Samhl

diff _ ,

B — ]
2000 -
B [ |
- . —
1500 | 25t
1000 | g
500
- 15(
of
- 10(
=500 —
1000 | | 50
_15[:“:' _I | | L1 1 1 | L1 1 1 | 1 1 1 1 | L1 1 1 | D
~100 ~50 0 50 100
diff_bpmXum
| —
10000 — m n — 14
8000
- —12¢
6000
- — 101
4000 |-
2000 b 8ot
of B0
2000 -
B 400
-4000 |
- 200
6000 |- -
B | I | | | I I | | | I I | | 11 1 1 | | I I | | D
~100 50 0 50 100
difi _bpm1Xum
diff
» — _EE[
4000
3000
- — 200
2000
1000
- —15(
oFm "
-2000
3000 500
4000
:| AN N T T N T A I A A B N A B A o
-100 _50) 0 50 100
diff_bpm1Xum
| I
4000 - o —1z¢
B [ ]
3000
- — 101
2000 |
- — B0(
1000 |-
C GOC
of
40
1000 |-
[ 200
-2000 [~
B |
i | | L1 1 1 | 1 1 1 1 1 1 | | |

2000

1500

1000

500

- 500

=1000

=1500

—200

—18C

—16(

—114(

120

=30 -20 =10 1] 10 20 30

|IIII|IIII|IIII|IIII|IIII|IIII| 0

diff_bpmda¥ium

diff_

10000

8000

6000

4000

2000

=2000

=4000

6000

—200

—18(

—16(

u —14(

“u

"-"1

4000

3000

2000

1000

=1000

=2000

=3000

=4000

4000

3000

2000

1000

=1000

=2000

[ I
|
[
- 200
el v by v by e b Lag g | 0
—ﬂﬂ -20 =10 0 10 20 30
diff_bpmda¥ium
—35(
—1 300
—125(

200

15(

100

500

[ |
plvvra v rvar v v b bv v brr o | 0

—Eﬂ =20 =10 1] 10 20 30

diff _

diff_bpmda¥ium

u —200
—18(
—16(

—114(

—12(

101

800

[

400

200

diff_bpmdeX

2000

1500

1000

500

-500

=1000

=1500

—125(

—120(

150

100

| | L1 1 1 | 11 1 1 | 11 1 1 | L1 1 1 | ﬂ
~100 _50 0 50 100
diff _bpmdeX/um

diff_

10000

8000

6000

4000

2000

= 2000

~4000

~6000

141

—120

—10C

80C

G600

400

200

|
I|IIII|IIII|IIII|IIII| i

91

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

=100 -50 0 50 100
diff_bpmdaX/um

—25(

—200

—15(

100

500

A T T T T N T T O O A OO B 0

~100 _50 0 50 100
diff _bpmdeX/um

diff _

4000

3000

2000

1000

=1000

= 2000

—120

—10C

G600

400

200

57 vs diff bpm=COL

diff _

2000

1500

1000

500

=500

= 1000

= 1500

diff_bom4eY/um

diff_

10000

8000

6000

4000

2000

= 2000

=4000

= 6000

91

4000

3000

2000

1000

= 1000

= 2000

=3000

=4000

diff

4000

3000

2000

1000

=1000

= 2000

ff bpmdeY

— —{18¢
[ = .

- " —18¢
- —14c
: —{12¢
[ [ |

_l L1 11 | L1 11 | L1 11 I | I | | | I | | L 11

-30 -20 -10 0 10 20

—| 200

—18C

—16(

=14

200

=30 =20 =10 1] 10 20
diff_bpmday/um

iff bpmdeY

—25(

=200

15(

100

500

-30 20 10 0 10 20
diff_bpmdaY/um

hpméleY

|
||III|IIII|IIII|IIII|IIII|III

—18C

—16(

—14(

—12(

100

800

G0C

400

200

2000

1500

1000

500

~500

=1000

=1500

—800
- |
u —700
Il
B
—600

°1

100 50 0 50 100
diff_bpm12X/um

| —
10000 |- —{201
n —16(
BO00 -
[ —14¢
4000 -
- —{12¢
2000
of
~2000
- - =
4000 : .
- 200
~B000 - -
_III|IIII|IIII|IIII|IIII|III ﬂ
~100 50 0 50 100
diff_bpm12Xium
diff
4000 |
- —7oL
3000
n —{B0t
2000
1000 [ —{50(
oF
-1000
~2000
3000
~4000
SRR NN R 0
100 50 0 50 100
diff_bpm12X/um
diff
- m —{16(
3000 [~
N —{14(
2000 [
N —{12(
1000 |
of
1000 |-
B [ [ EE
~2000 |- 200
u |
_III|IIII|IIII|IIII|IIII|III ﬂ
100 -50 0 50 100

7. postpan.png

diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7188 000

regression

= I _24[
200 5_ —22(
- —200
| [ n
. 200 18
] C ] —{16(
100
[ —{14(
o 12(
- 100
100 m .
N BOC
-200 |-
- 400
300 _ 200
B L1 1 | | I I | | | I | | L1 1 1 | | I I | | D
100 50 ) 50 100
diff_bpmXum
| —
_ - m —12¢
T 2500 |-
| - —10c
2000 -
! B
1500 —a0C
[ m
[ n
1000 |- 0t
B [
500 — n
- 400
o
" m | 200
-300 m e
B L1 1 | L1 L1 | | L1 1 | L1 1 1 | L1 L1 | D
100 = ) 50 100
difi _bpm1Xum
*
[ —|zac
00 —z2¢
| - —200
» 400 —18(
I -
] i —16¢
200 - m
. B —{14(
ok 120
j 100
~200 - |
. B0C
400 |- 60L
- 400
-600 200
NN A I o
100 50 ) 50 100
diff_bpm1Xum
: I
600 —anc
: | i |
500
- —a5¢
I n
. 400
| - —30¢
Toap0
- —{25(
200
100 20
oF 1580
-100 |- 10
_200
. 500
~A0 - m
il I | | | I I | | 11 L1 1 I 11 |
100 50 n 100

—700
300

200

100

=100

=200

=300 [ |

1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
100 50 0 50 100
diff_bpm12X/um

°1

B —
i B —ak(
2500 [
| C — 300
2000 |-
| - o5
1500 [
3 m 201
1000 [~ .
B [ ]
0 m
o
=300 - m m
_|||||||||||||||||||||||||||
=100 ~50 (1] 50 100
diff_bpm12X¥/um
]
i — 70
600 —
| i [ —60L
[ MD_
] [ u —{50(
200 —
ol
200 |-
400 -
B [ |
B |
—g00 —
- g
I R e N
=100 ~50 1] 50 100

diff_bpm12X/um

;

N — - —24( k-
. —laoc . - —laot
| | | |
- - - —(22( N u
300 — 300 — ﬂﬂﬂ:j
: ik - —[20t - —{700
| - | - | -
200 200 —1gc o200
L —[60c s L . —60(
] N ] N —16¢ ] :
100 100 100
[ [ —{14( i
o o 12( ol
0 . 100 -
[ [ I |
~100 | ~100 m ao( 100 | ;
N N BOC [
200 |- -200 |- -200 |-
- - 400 - -
300 300 |- 20( 300 |- n
_|IIII|IIII|IIII|IIII|IIII|IIII| ﬂ _III|IIII|IIII|IIII|IIII| ﬂ _|IIII|IIII|IIIIIIIIIlIIIIlIII
a0 =20 =10 ) 10 20 30 - 100 50 0 50 100 -30 20 10 ) 10 20
diff_bpmdaYium diff bpmdeX/um diff_ bpmdeYium
d' d d
- - —1a - 40
. L _'1"[:": . L . L
T 2500 | T 2500 |- T 2500 |-
- - - —a5¢
| - —35( | - —10t I -
2000 [~ 2000 |- 2000 [~
I i — 300 I B I C —{ 300
1500 |- 1500 —80( 1500 -
[ —25¢ . - —25(
- | - | - |
n n n n [ n
1000 |- 1000 |- - 1000 |-
C B B ]
500 — 500 — 500 [
[ i 401 i
o o of
- " m 200 -
500 |- 500 | 500 | - O
_|IIII|IIII|IIII|IIII|IIII|IIII| _III|IIII|IIII|IIII|IIII| ﬂ _|IIII|IIII|IIII|IIII|IIII|III
a0 -20 10 ) 10 ~100 50 ) 50 100 30 20 10 ) 10 20
-:Iill_hﬁm43‘1".fum diff bpmdeX/um ditf bpmdeYium
diff _ ] diff _ hpmélcY
| I | _24[ |
: —aor Z - — 80
600 600 —2=t &00
L —{70t L PO L s
| - —60( | - | - —|60C
3 - i - —{18( ? .
200 200 L] 200 |-
Z = —14( :
o = oF 120 o =
i i 10€ [
~200 -200 - L ~200
L L E.D[ -
_ap0 _aon BOC a0 -
i - i 400 i
-600 5 . O ~600 [~ 20 -Goo 3 =
Lo b o oo b b d 0 NN NN N I 0 ol b oo e o b
a0 =20 10 ) 10 20 0 - 100 _50 0 50 100 30 30 10 ) 10 20
diff_bpmda¥ium diff_bpmdeX/um diff_bpmdaY/um
diff_ diff_ diff_ hpméleY
B00 - 141 600 - &00 - 14t
n ] n — 400 n
: " : o :
500 500 500 _
[~ 120 [~ —35( B 120
| - I - I -
- N -
. . —lanr C _
| = 10( | = | - 100
R L R B
. . 2t -
200 200 F 200
100 100 20t 100 F-
o o 16L o
- - - u
~100 -100 100 -100
~200 - -200 ~200
- - 300 -
_3gn5— ok m ~300
|IIII|I |||||||III|IIII| - |_|_III|II L1 1 1 |IIII|IIlllllllrlllllllllllll
-0 =10

reg_sam

13

57vs diff

“bpm-

L.7Z postpan:png

600
200
400
l 300

200

100

=100
-200

=300

—12(0

—100

- 100 -o0 1] 50 100
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

diff_

_bpm1X

%

I 2000

diff

%

_bpmdeX

_bpmdeY

2000 = — = -
[ 12/ ndf 1511 /12 [ 12 | ndf 46.01 / 37 [ %2/ ndf 10.35/712 [ 12 / ndf 39.5/37
- B} 1500 - - - i 1500 f
10T PO 0.3976 + 1.0678 E b, p0  0.3345 £ 0.5080 100 - PO 0.2269 + 1.0685 b PO 0.1017 £ 0.5724
C 1000 iﬂbrh : 1000 - '—i’t ++J‘
1000 |- p1 -18.99 £ 0.14 - “, p1 -49.11 £ 0.09 1000 = L -18.91 £ 0.14 - - p1 -51.26 + 0.11
! - 5 - I "
i %{4 SO0 B ’H, 500 :—
H0E ’ ; 500 - } -
- o B ) o
oL ! i B
i "q."_ i ~500 — : F 500 [
- - i " " _ “, N
500 i 'I' B "‘h-i_‘_q ~500 __ ++r : ++-|-+
] ~1000 St - : 1000 +hf+|+
~1000 |- _ - - iiI’—- - _ i N
B - 1000 |- -
—|||||||||||||||||||||||| —|||||||||||||||||||||||||||||||| —|||||||||||||||||||||||| |||||||||||||||||||||||||I||||
100 50 0 50 100 30 -20  -10 O 10 20 30 ~100 ~50 0 50 100 30 -20 -1 0 10 20
diff_bpm1X diff bpm4aY  diff_bpmdeX dlthpméleL
L 2 1 ol 12712 %2/ ndf 35 82 ) 37 10000 - ¥2 / ndf 5.752/12 ¥*/ndf  37.76/37
8000 |- 8000 |-
- po 0.6749 = 0.5912 p0 2.219 £ 2.301 . p0 0.2475 + 0.5761 p0 1.69 £ 2.30
6000 [ 6000 [
- p1 -77.27 £ 0.08 p1 8.692 + 0.402 } ] - p1 -77.27 £ 0.08 p1 9.91+0.44
4000 - - i 4000 |- N
- " a0 L . - 400 |-
2000 i : 2000 [ e -
[ k 200 #WH i B 200 W '
i \ o MJr { o \ -
B - + B or- -
-2000 - S ~200 {hﬁ -2000 - -, - 1 A
- . B i '*F_ -200
- _ a0 N ) -
~4000 - : ~4000 1 - s0f ll
i -600 — i -
6000 |- - - ~6000 |- - -
_|||||||||||||||||||||||| _|||||||||||||||||||||||||||||||| _|||||||||||||||||||||||| _E‘II}D——lll||||||||||||||||||||||I||||
100 50 0 50 100 30 20 -0 0 10 20 30 ~100 50 0 50 100 30 20 -1 0 10 20
12/ ndf 13?‘1.”2 1</ ndf 5455!3? 72 ndf 8404.'“12 %2 / ndf 4315f3?
J"’chr A sff
p0 -0.6924 £ 3.1350 J p0 -0.1668 £ 0.7207 I p0 -0.4984 = 3.1356 'H ) p0 0.3663 = 0.6264 ;f
p1 12.99 £ 0.42 +\A{ - p1 1394 =01 p1 1279042 / y pi 1504 =01
[ ngsz i B ﬁ i
I pf of 500 of
500 1000 |- i | =1000 |-
I _2000 - & ~1000 ™ - ~2000 [~ e
-leno e - 3000 i ~3000 -
i - Ht ~1500 |- s ij}
I ; 4000 F _ - - 4000 | _
ST T T T N T T T Y 0 A B B B B vl v by b by by g | T T T T T N T I T A N B B sl N T T T T T N 0 M B O
100 50 0 50 100 30 20 -10 D 10 20 30 ~100 50 0 50 100 30 20 -10 0 10 20

diff_bpm1X

- 800 — - 800 [~
- %= { ndf 12.94 712 - %=/ ndf 35.94 /37 - %/ ndf 11.52/12 -
3000 i 3000 ) [
5 po 0.2715 £ 0.3309 600 I~ } p0 0.8709 = 0.9863 - p0 0.06544 + 0.27910 600 I
2000 — p1 -33.16 £ 0.04 4n0 - '| p1 -10.32 £ 0.17 2000 — p1 —-33.67 + 0.04 400 — 3
: ) ; : - * i
1000 [~ . 200 - HH'HH B} 1000 [~ " 200 [ H !y
- K I ! - K -
ﬂ:— \ II]_— } 1 II]:— \ II:F_—
C . - #H \J" - N 3 [
- - B 1 - = . _ann
1000 |- * ~200 - ‘LH* fﬂ[H ~1000 |- . 200 |
: ] B : T ~ 400 __
~2000 [ -4no ~2000 - A
[ 1 1 | I I | | 1 1 | | L1 1 1 | 1 1 1 I- | i | 1 11 1 | 1111 | 111 [ | 11 11 | 1 11
100 -2 10

run7188 000 regression

iff bpmdaY

:
E

diff

asym sam

1357 vs diff ‘bpm-fit

_bpmdeY

+ \\W& |

¥Z / ndf 31.53/ 37

pO 0.634 £ 0.983

p1 -11.85t0.19

- postp

10

an.png

diff_bpm12X

%2 { ndf 38.76 / 41
p0 0.5495 + 1.2011
p1 0.03847 + 0.04387 { _
R I

of H{W#}H
-mnf— d| ]l §
_:mnf— {
-:mnf— j
-‘“3“3'3—...|....|....|....|....|....

=100 -50 0 50 100

diff_bpm12X

x2/ndf 4316/ 41
pO 19+23
p1

oF
—E-DD:—
—1[?DEI:— {
—15EIEI_ ]

1.798 £ 0.084 H{ _
| IWMWM M*

=100 -50 0 50 100

diff_bpm12X

E.Ir['ll:“ 3541 7 41

p0 ~0.7766 + 3.1627 | i
pi 1.481=0.116

iy
oF JAT th
WAL I

500 } )
=1000 _—
S1B00 g Ly by by b b

=100 -50 0 50 100

diff_bpm12X

w2 | ndf 44.41 [ 41
po 0.8012 + 0.9998 3
p1 1.202 +0.037 ’
P _— {}“ H
ﬂ:— _}WM ‘| -
=200 [ H‘ﬂ
: q
ool J
=B00 :— )

=100 ~50 0 50 100



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

diff bpm1X

:
%

diff _bpmdeX
32/ ndi 11.13/12

p0 0.001657 £ 0.269192

p 0.007755 £ 0.036066

o0 i _
50
N f
of VMJ
_.E'D:_ }‘_
100 -
=1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 |
=100 o0 0 50 100
diff _ bpmdeX
¥2 { ndf 15.55 /12
p0 0.3051 £ 0.2464

P 0.004542 £ 0.034782

2/ ndi 5.515/12 tso b T 2 | ndf 26.99 /37
p0  —0.001157 + 0.269211 ! p0 0.02415 + 0.27043
_ 100 — -
p1 0.01649 + 0.03615 - p1 ~0.0151+ 0.0478
T [ B
; \_
50 ) [ }
' Py o ’ “ Hﬁtﬂ*f‘zﬁmﬁwﬁﬁ*ﬁmm“
sof I
B -
100 |- ) I t )
_III|IIII|IIII|IIII|IIII| _IllIII|IIII|IIII|IIII|IIII|IIII|
=100 o0 0 50 100 =30 =20 =10 0 10 20 30
diff bpmlX  diff _bpmdaY
32 1 ndf 10.58 /12 100 - #* / ndf 39.91/37
p0 0.3046 + 0.2467 ., p0 0.4744 + 0.2546
pl  0.02551 + 0.03473 501 - p1 ~0.0119 £ 0.0449
1000 |- ok WWWWM%MH
500 |~ 1 - }
- } S50 i
of S -
-500 | i i
_III|IIII|IIII|IIII|IIII| _1.DD_I|IIII|IIII|IIII|IIII|IIII|IIII|
=100 -50 0 50 100 -30 -20 =10 0 10 20 a0
diff_bpmi1X diff bpm4aY
200 | ] %2 | ndf 14.16 /12 +2 f ndf 36.03 /37
- p0 0.2144 + 0.5612 pO 0.2283 + 0.5639
100 —
[ p1 —0.06551+ 0.07507 p1 0.1176 = 0.0897 -
a o TF——
I 100 |- |
100 - 1 .
R - ~200 - -
=200 B —31}0:—
[ ) sl -
st T AT I A AT AT AN A A e AR AN R B N A A RO A A AN A AN AN A AN AN AN AN AN A
=100 -50 0 50 100 -30 =20 =10 0 10 20 30
diff_bpmi1X diff bpmd4aY
0 —
: - ¥Z | ndf 10.28/12 %2 { nalf 35.71/ 37
500
400 3 p0  —0.03789 + 0.20698 b0 0.04191 + 0.20879
300 p1  —0.00143 + 0.02796 p1 0.003414 + 0.036964
200 - i l” | -
100 L ol }ﬁwﬁww{h
of e I } )
100 - sl -
~200 | i
_ano b - B {
C 1 1 | 1 1 1 1 | 1 1 1 | 1L 1 1 1 | 1 1 1 1 | _1DD

run7188 000 regression reg sami357 vs

diff bpm

dlthpmélcY

diff _ bpml2X
¥ ndi 4315 / 41

pd 0.09144 + 0.26999

pi 0.002439 + 0.009308

o
1000 |-
500 |- i
B +
~500 [ _-|
C 111 | L1 1 1 | L1 1 1 | | I I | | L1 1 1 |
=100 =50 0 50 100

91

iff_bpmdeX

i }: ! naf 18.39/12
200 |- i
i pO 0.1954 + 0.5613
100 |, | p1 -0.05848 + 0.07485
of ’J%*‘"***"]LI
=100 :—
_200 :— )
-300 N A BT SN B i B B B A B A B B a
=100 -850 (1] B0 100

diff_bpmdeX

: i ¥2 / ndf 12.44 /12
500
- po ~0.01398 + 0.20690
400 —
300 |- pl —0.002709 + 0.027919
200 ) )
100
0 :_ ++lf“—"r|"|;
~100 *
~200 i
:_ 1 1 | A 1 11 | 11 1 1 | 1 1 1

] 12/ 48.18/37
i po 0.004447 + 0.270471
100 —
n p1 —0.00737 + 0.05158
sol- }
: o
o {MW&WMM&
Y- - |
oo -
'|||||||||||||||||||||||||I||||
=30 =20 =10 (1] 10 20
5 1 nof 3e.08 /537
ol 06609 = 0. 2544
o1 00009697 = 00483906
= | : \H
F Tty
sof ]l 11
of. *
_m:— -
-31}:—
—|||||||||||||||||||||||||I||||
=30 20 =10 (1] 10 20
diff bpmdeY
}:2 { nat 38.83/ 37
pO 0.2515 + 0.5641
p1 0.06418 £ 010750
T __
o0 L
zo0 |
I NN NN NN NN AN
=30 20 =10 (1] 10 20
diff bpmdeY
¥/ ndf 23.55 /137
p0 0.09248 + 0.20875
=) 0008101+ 0.039675
4{?_— }
- t
20 ]L I
= } H]{Mwmauémﬁmw
20| '
40| }
_.51}:—
-_|||||||||||||||||||||||||I||||

-2{) =10

-fit“ postpan.png

“‘ hH#:W &;}W |
3 |

=100 -50 0 50 100

°1

iff_bpm12X

%2 I ndlf 38.27 / 41
100
[ p0 0.5287 + 0.2526
a0 1 Bl —0.007334 + 0.009318
1] _— + +++H}
g } P
~50 :— !' {
=100 [ {
=150 _ -
il | | L1 11 | L1l 11 | L1 11 | L1 11 | | I .|

=100 -50 0 50 100

iff bpml12X

"-"1

200

100

1 -0. = 0.
H}#trl b p 0.0245 = 0.0206

x= [ ndf 35.07 7 41

p0 0.2221x 0.5627

H Rl

=100

- 200

=300

- 400

||||||||||||||||||||||||_||||
=100 -850 (1] B0 100

91

iff_bpml12X

- - ¥ ndi 61.03 / 41
a0 | po 0.1724 + 0.2084
i } | JIH ) ol —0.008607 + 0.007616
o ey ]
; H{ i i
C ) lf
50
100
150 -
C 111 | | I | | L1 11 | | I | | | I | | L1 11

=100 ~50 0 50 100



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run7188 000 regrt

diff_

2000
1500
1000

500

=500

=1000

=1500

91

10000

8000

6000

4000

2000

=2000

=4000

-6000

50 100
diff_bpmXum

4000

3000

2000

1000

=1000

=2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

50 100
difi _bpm1Xum

d'

4000
3000
2000

1000

=1000

=2000

50 100
diff_bpm1Xum

b

1HD

2000

1500

1000

500

- 500

=1000

=1500 |IIII|IIII|IIII|IIII|IIII|IIII|

30 =20 =10 0 10 20 30
diff_bpmda¥ium

°1

10000

8000

6000

4000

2000

=2000

=4000

6000

—Eﬂ =20 =10 1] 10 20 30

diff_bpmda/um
diff _

4000
3000
2000

1000

=1000
=2000

=3000

=4000

=
IIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=30 =20 =10 1] 10 20 30

diff_bpmda¥ium
diff

3000
2000

1000

=1000

=2000

Sami3s7ivs diff b

ressmn'" "“”‘a”SVl‘l'l SAlll

diff_

2000
1500
1000

500

-500

=1000

=1500

10000

8000

6000

4000

2000

= 2000

~4000

~6000

50 100
diff _bpmdeX/um

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

50 100
diff_bpmdaX/um

3000
2000

1000

=1000

= 2000

50 100
diff _bpmdeX/um

100

“bpme=sca

. POS

diff_bpmdeY

2000
1500
1000

500

=500

= 1000

=1500 IIII|IIII|IIII|IIII|IIII|III

%_llllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

20 10 0 10 20
diff_bom4eY/um

91

10000

8000

6000

4000

2000

= 2000

=4000

= 6000

=30 =20 =10 1] 10 20
diff_bpmday/um

91

iff bpmdeY

4000
3000
2000

1000

= 1000
= 2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-30 20 10 0 10 20
diff_bpmdaY/um

diff_bpmdeY

3000
2000

1000

=1000

= 2000

-20)

tpan.png

2000

1500

1000

500

~500

=1000

_15|:IUIII|IIII|IIII

=100 -50

diff
10000
8000
6000

4000

2000

= 2000
=4000

~6000

0 50 100
diff_bpm12X/um

=100 -50

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

=
IIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

o 50 100
diff_bpm1 2X/um

=100 -50

diff _

3000
2000

1000

=1000

= 2000

0 50 100
diff_bpm12X/um

- 100 -o0

1] 50 100
diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7188 000

300

200

100

=100

=200

~300

=100 =50 0 50 100
diff_bpmXum

d .
© 3500
|

2000
1500

1000

500

=500

=100 -50 0 50 100
difi _bpm1Xum

ditf_bpmlX

600 iy
" WD_

200

-200

~400 —

600

=100 -50 0 50 100
diff_bpm1Xum

600
500

400

200
100
1]

=100

=200

=300

—1{?0 -5|} " lIZII 100

©300

200

100

=100

=200

=300

30 =20 =10 0 10 20 30
diff_bpmda¥ium

diff_bpmdaY

© 2500

|

2000
1500
1000

500

- 500

—.']-l} =20 =10 1] 10 20 30
diff_bpmda/um

BO0 —
» WU—

200

200 —
- 400 —

00

30 20  -10 0 10 20 30
diff_bpmda¥ium

diff_bpmdaY

GO0 ;— EHDE;
- 500 E— SO0 E—
I - I -
. 400 . 400
i 200 E— ; 300 E—
EDDE— EDEIE—
mnf— mnf—
-1nn§— -1DD§-
—E{FDE— —EDDE—
300 300 F

resression -reg sami357vs diff”

300

200

100

=100

=200

-300

~100 _50 0 50 100
diff _bpmdeX/um

© 2500

|

2000
1500
1000

500

-500

=100 -50 0 50 100
diff_bpmdaX/um

600 —

200

-200

-400 —

=600

~100 _50 0 50 100
diff _bpmdeX/um

300
200

100

=100
=200

~300

© 3500

|

2000
1500
1000

500

=500

600
« 400

200

=200
- 400

=600

600
500

400

200

100

=100
=200

=300

el

10 20

diff_bom4eY/um

wl

10 20

diff_bpmday/um

Y

=20

10 20

diff_bpmdaY/um

ostps

0

an. pne

T 300
200

100

=100
=200

- 300

© 2500

|

2000
1500
1000

500

~500

600
« 400

200

- 200
- 400

- 600

600
200

400

e

300

200

100

=100

-200

=300

1
100 50 0 50 100
diff_bpm12X/um

=100 -50 1] 50 100
diff_bpm1 2X/um

1
100 50 0 50 100
diff_bpm12X/um

- 100 -o0 1] 50 100
diff_bpm12X/um



